21) Which of the following is correct according to shoulder joint?
A) Short head of biceps enter the capsule

B) The capsule encloses surgical neck

C) Capsule is attached to subacromial bursa anteriorly

D) Pectoralis major and teres major causes medial rotation of shoulder

Answer: D

23) InCorrect about brachial plexus
A) Suprascapular is from ventral ramus

B) Long thoracic nerve is formed from 5,6 & 7 brachial roots and
innervates latissmus dorsi

C) trunks form anterior and posterior divisions

Answer: B

25) a patient can’t raise his arm completely, and pushing the scapula
causes scapula wingning, which axillary wall is affected?

A) anterior
B) medial
C) posterior

D) lateral

Answer: B

30) Nerve responsible to innervate the muscle to abduct the arm from 0 to
r 1.1

Suprascapular nerve
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34) One muscle is from rotator cuff: muscles
A) Infraspinatus

B) pectoralis major

C) teres major

D) latissmus dorsi

Answer: A

44) Which of the following that make a medial rotation in shoulder joint?

Teres major

47) nerve that has direct relation with surhical neck of humerus:

Nerve to deltoid | axillary nerve)




-\/Q57 ) One of the following nerves has roots from two cords of the brachial plexus
Select one:

a. Posterior interosseous nerve aad

b. Ulnar nerve

c. Median nerve

d. Thoracodorsal nerve

e. Radial nerve

Answer: C

V Q50 ) One of the following muscles is ‘rotator cuff’ muscles. Select one:
a. Teres major
b. Serratus anterior baad
c. Subscapularis
d. Trapezius

e. Rhomboid major

Answer:$ 4

v Q48 ) The long thoracic nerve contains nerve roots. Select one:
a.C3.4.5

b. C4. 5.6

cLO0 7,

d.Cé. 7.8

e.C7.8.T1

Answer: C

L/Q47 ) The axilla contains all of the following EXCEPT: Select one:
a. Axillary artery

b. Axillary fat

c. Trunks of brachial plexus

d. Axillary vein

e. Cords of brachial plexus

Answer: C




‘ﬂ)27 ) Which of the following is NOT branch from the cords of the brachial plexus? Select
one:

a. Medial cutaneous nerve of the arm
b. Dorsal scapular nerve
c. Lower subscapular nerve
d. Thoracodorsal nerve
e. Medial cutaneous nerve of the forearm

Answer: B

‘ﬂ)27 ) Which of the following is NOT branch from the cords of the brachial plexus? Select
one:

a. Medial cutaneous nerve of the arm
b. Dorsal scapular nerve
c. Lower subscapular nerve
d. Thoracodorsal nerve
e. Medial cutaneous nerve of the forearm

Answer: B

l/QZG ) The surgical neck of the humerus is. Select one:
a. True anatomical neck

b. Same as tuberosity

c. Important landmark to posterior circumflex artery
d. Common origin for the flexor muscles

e. Important landmark for the axillary artery

Answer: C

\/QZZ) which of the following does not cross the shoulder joint? Select one:
a. Long head of Biceps brachii

b. Teres major

c. Coracobrachialis

d. Teres minor

e. Deltoid

Answer: B




\/242 ) Which of the following arises from the upper trunk of the brachial plexus? Select
one:

a. dorsal scapular nerve

b. upper subscapular nerve
¢c. thoracodorsal nerve.

d. suprascapular nerve

e. medial pectoral nerve

Answer: D

\ﬁ!38 ) identify the incorrect pairing for testing muscles: Select one:
a. Suprascapular nerve Supraspinatus and infraspinatus muscles
b. Deltoid axillary nerve

c. Rhomboids Dorsal scapular nerve
d. Serratus anterior long thoracic nerve

e. Pectoralis minor- Lateral pectoral nerve

Answer: E

|/ Q33 ) Choose the incorrect The brachial plexus has. Select one:
a. roots

b. trunks.

c. divisions.

d. cords.

e. 10 branches

Answer: E

u/Q30 ) Which of the following arises from the upper trunk of the brachial plexus? Select
one:

a. dorsal scapular nerve

b. upper subscapular nerve
c. thoracodorsal nerve.

d. suprascapular nerve

e. medial pectoral nerve

Answer: D




u/ Q17) Which of the following is NOT boundary of the quadrangular space? Select one:
a. Long head of biceps brachii

b. Teres major

c. Long head of triceps brachii

d. Teres minor.

e. Shaft of the humerus

Answer: A

'/QI 1) Damage to the posterior cord of the brachial plexus would most likely result in
weakness of which of the following muscles? Select one:

a. Coracobrachialis

b. Flexor carpi radialis
c. Latissimus dorsi

d. Pectoralis major

e. Supraspinatus

Answer: C

Vg

/ Q7 ) Which of the following is branch of the LATERAL cord of the brachial plexus? Select
one:

a. medial pectoral nerve
b. thoracodorsal nerve
C. suprascapular nerve
d. long thoracic nerve

e. musculocutaneous nerve

Answer: E




LA of the following muscles is NWOT “rotator cuff” muscles. Select one

o. Teres rmiinor

b. Serraotwus aonterior

Cc. Swupraospinatus

o. Imnfraospinatwus

€. Swubscapwlaris
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L9}9%4’!#"‘1.!‘::“1 of the following is_ff_g_[ branch from the cords ef the brachial plexus? Select
e ——— er—=—78 e

. Medial cutaneous nerve of the arm

b. Long thoracic nerve
c. Lower subscapular nerve

d. Thoracodorsal nerve

e. Medial cutaneous nerve of the forearm
Mﬁn B

O ) Damage to the medial cord of the brachialf plexwus wowld most likely result in

£ i e
Aweakness of which of the following muwuscles bra"d’\ 9. L
L ":.!_.-*
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-Seleci one
a. Coracobrachialis V\ENE
b. Extensor carpi radialis ! = n..’(_/é?

c. Laotissimuws dorsi

o. Pectoralis major

e. Supraspinalus
,/4-15/“: D

}ﬂﬁvhich of the following arises from the upper trunk ef the brachial plexus? Select
——f
;ane -

a. dorsal scapular nerve

b. upper subscapular nerve

c. thoracodorsal nerve: - AT
vl hov i
d. subclavius nerve . IJ ev'U € ro

E. media] pectoral nerve

e (/Aﬁer: D

7 ) Identify the incorrect pairing for the following: Select one

—

a. Supraspinatus superior scapular nerve

b. Deltoid axillary nerve
c. Rhomboids Dorsal scapular nerve

d. serratus anterior long thoracic nerve

E. Pectoralis major— Lateral pectoral nerve

Answer: A
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/'e{)Which of the following IS boundary of the quadrangular space? Select one
a. Long head of biceps brachii
b. Pectoralis major

c. Short head of triceps brachii

. d. Pectoralis minor ; [ W Q.Ck- o
t (&
E. Shaft of the humerus —= C 5 wrte
/ LAMIE!‘:E
/:097 The surgical neck of the huniertes ts: Sellect one .
—® 203 > o°

a. True anatomical neck o 4_ P Q.'}
b. Same as the tubercte Ldb —_—

c. Important landmark for the axillary nerve
d. Common origin for the flexor musctes

e. Impartant landmark for the axillary artery

g Answer: €

'}26 ) The Dorsal scapular nerve contains nerve roots: Select one
253
.b. C4
L. s
d. C6,

e.c7
ﬂen C

L;/s )The brachial plexus has: Select one
a,5 roots
.b.5 trunks
c. 3divisions.

.d. 4 cords

e. 10 branches
nswer: A







